Ratio to ATLAS

d?o /1 d m™ d |y™™ [pbiGeV]

13000 GeV pp
LA I R

[ L L L LY [N A N B B I

c

M(ttbar) (ATLAS semileptonic ttbar) %

107 = —

- m ATLAS 2

~ —&— Pythia 8.176 default N

— —4— Pythia 8.176 default-noCR o

: =

— —Ho

=

| v

1072 = = ]

B =)

— -1 M

Y.

— —™

©

o

I B ESe)

—

_ X

107% =k

- 15

| | c

N J o

Q

| — 0

©

- - o

(&)

1+ 1 | — | PR T I I — | PR [T I NI — | E

: T T | T T T T | T T T T | T T T T |:

2 & =2

1 = 1
0.5 —0.5

..... T T T N T T S SO E T SR T S |
500 1000 1500 2000

mP2 4 1Gevy, [y™ in [1.2,2.5]



	Contents
	Page 1


